EARAROBEEIERT — 2 N— IBISH —F

2019518278 (B) 2EI=#R2H

BlR®es 1600F5F ¥5%4%L (B

[$57E]

oN=}
EE

‘ [R1%] & ‘ [REBE] — | Z (A) 18000 B

[~®4] 1 7% 18,200,000 @ ~ 2 7 :7,300,000 @ ~ 3 7 :4,600,000™

4 7% 12,700,000 5 7 1,820,000 M

mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. - . AS S . - =
EoSA R # 6 é’z;l%%ﬂi 1.(4_8).0 6-6 34.3105.7| 5 (i?i) E.(Q?;ﬁ(%f)\/j/ .
R4 TIxATv— B:FT14=y b BhEFREMXSHIVATHRS
N Rtk — : = wRE (ER
E_SYT AT % 5 s (11.418/.42) 3-3 34.7|103.5| 1 :]2) EE;E%( )
RN—E>Tv— BELHFAL J—HrIr—L
F—F—EHT Y — i 5 5M5-_0?L\—D 1:(428>.5 6-7 34.7100.3| 3 (4_728) ?\gﬁi (FE=R)
LTSy ra4K Big1%U55 YA
Ky —4 # o6 | fEKH— 1:48.5 3-3 35.0|100.1| 4 | 508 |EHHE= (RH) o
v 57.0 2E) Co) | B FEeE—sT (2GR
g4 x v b Bz )—NLEYT =HH5
. o RHIBE . - izt
ZZHILISS # 10 57% 1(.14/82.>6 1-1 35.4| 9.1 | 6 ;1520) ﬂﬁﬂg (T|H)
RAZXHTLR BV XXAH Eksge]
. _ 1 B : - BKAE (FER)
Sy —= 1 i 56.0 (11'418/8 >z %5989 2 (23) E@sk) HhFXTR—INTF 12T R
L:Jq 7 hT—lbEY B:IqJL7O-— LR 455
711111 F94or>F35v 7 [B] H o8 5575%% 1:49.2 33  |35.7]89.9| 7 | 486 ;@;ﬁ;gl}g €35
. 21/2 =
QTIRAFTEN BAVON-32-X @2 O 5 597—n
@ 1L
£ 46.8-34.8
NA> 24 L | 12.9-12.0-12.0-12.2-12.1-12.0-12.0-11.1-11.7
® 1—F—@EBIERL
13—7F-
2ol=5"=
33—7F7— |[2,3(1,5,7)(6,4)
43—+ — 2,3(1,5,7)4,6
[ /N
B OB 4 1,330 | | 71 K 4-7 390 | | B E 4-7 1,510 | | 3:&EE 4-6-7 1,030M
B B 4 450H 4-6 480M B H 4-7 3,860 JEE 4-7-6 12,300
7 1609 6-7 180H

ABICOVWTRDTEEERROODE. TR LIV,




